1984 4E 1R 3 [4]

Zf(r) X g'(x)=x+1 g(x):%(x+1)2+ck3£~@50 g(-)=C, gl)=2+C THDHIMND
f(-)={g(-1)}* +a=C*+a=0 —O f@)={g®)}*+a=(2+C)>’+a=0 —©

@—0DOXxY 4C+4=0 . C=-1 .,a=-C?=-1

2
f()={gx} -1=g(x) +k & T5H& k={g(X)}2—g(X)—l:{g(x)_%} _% A

X :g(x):%(x+1)2 1B L. XZ1THHND. X =-1DFHT.

1

2
Y =k EY:(X—E] _%0)7“57@%@%@@%’1&%%%«“60 FHIX LD

k<—%@<‘:% A 50T 0 fiE,

k=—%0><‘:%< i\bﬁ,ﬁ&iX=%®lﬂﬁlo X=%%Eh{5x&i\ X=—1+3 0 2 {.

—%<k<1@k% SEAT I 2 E, & X 2525 xIE. FREh 2 fE,

k=10t x HEHIZIX=-L2D2M, ZO5H, X=-1Z5225xI1Z. x=-10 1 ff,

X=2%52%xTx=-1+/6 D 21,
1<k Ex HELAT1IME, 20X 2525 x1%, 2 fE,

UbkaFLdsrl
5
k<—10)<‘:€< 0 &
5
. k=—2,1<k@&‘g‘ Zﬂﬁl ______ (/}g)
k=1D L X 31
—%<k<1@k% 4{H

ST 2 TIE 2 REBABUTIRAE LTS, 4 BB OB Z T L,



